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#9
Assignment #5
25 points

DUE:  March 18
Martin Manufacturers produces two products, widgets (X1) and thingamagigs (X2).  The company has 12 employees.  It takes 2 employees working all day to make a unit of widgets and 1 employee working all day to produce a unit of thingamagigs.  The daily demand for thingamagigs is no more than 8.  The company wants to know how many units of each product to produce to maximize profit.

The objective function is:  Zmax = $100X1 + $80X2

(1)  Solve this problem with STORM.
(2)  Solve this problem with a graph.

(3)  Solve this problem with SIMPLEX.

As always, report all relevant information to management.

